Ojas

Kirjava

Tyhia s

29
Hannuhaaras 493

4.1
Haukikangas

Porha r7

489

Porha
Porha

524
503 Loal

523

4.5
Loytola s 510

5.7

Sienineva 513

arht

19

Tya

Hha

s

Hkg

00

8prh7
‘Dgal

75

-0
®©

=
]

—

Hovinmaa s

505

5.8

Lapinlahti 500

N

A=

‘4

L
24

3.8

Olassalo s

496

a1
-.l

6.7

Haukikangas 489

1]
11/12)
21

4.8

-~

4

—_—

-

484

Lna

480

57

b 01 0 1o

L 4+
|-

Ols

Hkg

17

30

40

Lo&

Prh
Prh




Tyhja

Hannuhaara s

Haukikangas
Porha r7
Porha

Porha

Loytola s

Sienineva

Hovinmaa s

Lapinlahti

Olassalo s

Haukikangas

Ojas

Kirjava

496

493

489
524
523
523

519

513

505

500

496

489

484

480

15

257 N\ 50 3 00 v
29 / \
& \‘((;7 41 Hha
Yy % 3
" / \
’ /
/ 00 15\\ /20 10 /30 Hkg
9 10 11 12 13 14 : 15 s,z::
! - i = = = = !
i C 3 : : : =
4 = e
O T R R = = it
44/ \u5 5 5 3d a3 15 53 \55
{ \ ] ]
45 \\ \ / //
\
,%\ 34 % 31 4'5/ / Loa
57 \\ \\ \\ // /
| 15\ /22 10\ s fz \\ /oo 8 Snv
I —= L] = I i wlad I
3 [ = v | | ] : \ ;
arhu . . | J I . \ 7
19/ \23 \s5 5 a7l ‘es /
\ \ I /
\\ \\ // \ /
) ' \\:§ // \
07 % % / Hvm
b \ \\ //
/
58 \\ \ / /
\ \ / \ o
54\ 20\._ o 5ol Jo4 Ile \.\ [18 Lna
i : ! = H ==
bl = S —— T S —— =
N \{15 2 57/ Y2 /' \io 19 ‘\4
°l | \ \
\ 50 | Jo \ ols
. 4 5 \:f\o / \
B / ® / \
6.7 ‘O \ / \
\ / \
\ \\ 5 39 /45 53\ 4
! L e\ 7 Hkg
i— — &t =
Efn \i . 1 X i :
3 1 o 37 o9 |3 / 3
\ / / / \
+ \ % / o \
\\ 7{'9 Zal 5 ’17 \\ >
s \ // // // \\
1 35\_ /31 s /17 /55 2 /40 40\ _/50 Kva
g - -: -- . - . . .
4 = ] 3 ; 5
5 B B L
8 9 10 11 12 13 14 15 16




Tyhja

496 17 18 19 20 21 22 23 4Tyé
29
Hannuhaaras 493 23 Hha
25
41
Haukikangas 489 34 Hkg
Porha r7 504 16 : 17 18 oA 19 20 21 22 23 240017
Porha 503 Loal 2(1.\‘@"’ 10 P
Porha 523 1 17 18 __: 19 20 21 22 23 dorh
| T ps 3 =
1l C ; .
If 3 C =
4 S N S S S S— ml T =
1 5 1 0 Va0 4 4 4?’ 5 10/ 5
\ / /
\ / /
Loytola s 519 49 \ 41 05 g / Lsa
47 \f,\ 4 06 g /
2 IS /
3 /
\ J /
\ / /
Sienineva 513 38\ /s 5 \ \\ £2 16 /20 \ ;:/1 fo Sy
— | | \ \ i —_—— 1 1 1
T \ \ ] ; \ / ./
J \ \‘ / 1 1 / J
27) 5 3 $ 1o/ \17 6 /
\ / /
\ / /
\ / /
\ / /
\ / /
Hovinmaas 505 15 \ / 29 / Hvm
1 / o1 /
\
\ / /
\ /
\ / /
Lapinlahti 500 02 49| J51 50 \ 14 s 40 2 o 3 Lra
| = . Y v — } ) |
I = = = 7 . p— 1
3 . [ / J | |
4 p s\ 4 , ] |
0 \gz 4 2 07 /’ 00 3 /’ 8
%8 \ / /
Olassalo s 496 53 \ 00 d 50 .,/ Ols
R 7 ¢
\ / /
67
\ / /
\ / /
Haukdkangas 489 {— _Ja2 25\_ o2 ! Ja9 . /30 ! 03\ /o6 \ f Hikg
I = 3 \ = Y = \ 1
"2 : = 1 Fo— v o \ 1
39/ \a1 3 \32 3 47 1 7 3 0 6
R 71 7
48 \ / \ /
AW ) \ J
Oja's 484 31 51 L 37 g \ R 14 oja
2 3 ? 3 5 \ 7 (6
\ / \ /
\\ / \ /
Kirjava 50— 21 03\_ [0 soh, 12 Wil _/04 40\ 25\ _/40 24\ 50! Joo Kva
3 N - - . . -
4 hd T -
: = =
B
16 17 18 19 20 21 22 23

24



	graf0-8
	graf8-16
	graf16-24

